R E N N |_ | N E Order Online: WWW.RENNLINE.COM

EM Sales@rennline.com
Driven to improve excellence. PH 802.893.7366
FX 802-893-7311

Aluminum Skid Plate Mini- R55, R56, R57

READ BEFORE INSTALLATION
The use of any Rennline product is the sole responsibility of the end user. Rennline Inc. accepts no responsibility for warranty voids or damage
resulting from the use of these products. Due to the varying location of wiring harnesses and other components, carefully inspect any area prior to
drilling. All Rennline products are intended for off road use only and should be installed by a qualified automotive technician.

Check to make sure you have all parts listed prior to installation.
If anything is missing contact us immediately.

(1) Skid Plate

(2) Rubber Bumpers P/N -MC93945K33

(2) 1/4-20 nuts P/N- MC95462A029

(2) Mounting Brackets with 1/4-20 cage nuts

(2) M12 x 90 bolts P/N MC91280A737

(4) M12 washers P/N MC91166A290

(2) M12 nuts P/N MC90591A181

(2) Spacers P/N-SB67-C12

(2) 1/4-20 x .875 S/S Button head screws P/N MC92949A541
(2) 1/4-20 x .375 S/S Button head screws P/N MC92949A535
(8)

2
2
2
2
8) 1/4"S/S washers - MC92141A029

Step 1 - Remove the (2) plastic covers as shown above. These will not
be reused.

Step 3 - Install the (2) rubber standoffs as shown above. Using the Step 4 - Install the skid plate as shown. (A) M12 bolts, Washers and
supplied nuts and washer. Spacers. (B) 7/8" button head screws and washers (C) 3/8” button head
P/N - UO3 screws and washers.



